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P - II (1+1+1) G / 20 (N) SUP

2020

ZOOLOGY (General)
Paper Code : IV-A & B

[New Syllabus]
(Supplementary)

Important Instructions
for Multiple Choice Question (MCQ)

 Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.
Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

Subject Code : III A & B

Subject Name :

 Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT’ answer. The candidate has to write
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. — A
 There is no negative marking for wrong answer.
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Paper Code : IV-A
Full Marks : 10 Time : Thirty Minutes

Choose the correct answer.

Each question carries 1 mark.

1. Which one is the basic dye ?

(A) Safranin

(B) Eosin

(C) Indian ink

(D) Congo red

1Ð þ˜#öì‰þîû ö„þy˜!Ýþ öî!¢„þ vþy£zÚ

(A) ¢ÄyšÊþy!˜˜

(B) £zç!¢˜

(C) £z˜!vþëûy˜ £zBþ

(D) „þöìDy öîûvþ

2. Fluid-mosaic model proposed by—

(A) Watson and Crick

(B) Singer and Nicolson

(C) Darwin and Wallace

(D) Jagadish Chandra Bose

2Ð þšÏ$þ£zvþ ö›yöì‹£z„þ ›öìvþœ!Ýþ „þyîû ²Ìhßþy!î“þ Ú

(A) çëûyÝþ¢˜ ~î‚ !e«„þ

(B) !¢Dyîû ~î‚ !˜„þœ¢˜

(C) vþyîûvþz£z̃  ~î‚ çëûyöìœ¢

(D) ‹†”#Ÿ ‰þw î¢%
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3. Amnion is the —

(A) Extra-embryonic membrane

(B) Yolk Sac

(C) Type of placenta

(D) Neuroglial cell

3Ð þxÄy›!˜ç˜ £œ ~„þ!Ýþ

(A) î!£ƒéôé¼*’þ™”Åy

(B) „%þ¢%›í!œ

(C) x›îûyîû ²Ì„þyîûöì¦þ”

(D) !˜vþzöìîûy!@Õëûyœ ö„þy¡ì

4. Corpora allata found in

(A) Insects

(B) Birds

(C) Heart of Fish

(D) Ribosome

4Ð þ„þîûöìþ™yîûy xÄyœyÝþy þ™yçëûy ëyöìîéôôôé

(A) þ™“þöìD

(B) þ™y!…öì“þ

(C) ›yöìŠéîû £*ê!þ™öì[þ

(D) îûy£zöìîyöì‹yöì›
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5. Trisomy 18 is —

(A) Down’s syndrome

(B) Turner’s syndrome

(C) Edward’s syndrome

(D) Klinefelter’s syndrome

5Ð Trisomy 18 £œ

(A) vþyvþz̃  î!’Å“þ öîûy†œÇþ’

(B) Ýþy˜Åyîû î!’Å“þ öîûy†œÇþ’

(C) ~vþçëûyvÅþ î!’Å“þ öîûy†œÇþ’

(D) „Ïþyöìëû̃ öìšþœÝþyîû î!’Å“þ öîûy†œÇþ’

6. Which one of the following has its own DNA ?

(A) Perixosome

(B) Mitochondria

(C) Dictyosome

(D) Lysosome

6Ð þ˜#öì‰þîû ö„þy˜!Ýþîû !˜‹ßþº DNA xyöìŠé Ú

(A) öþ™!îûöì:yöì‹y›

(B) ›y£zöìÝþy„þ!uÈþëûy

(C) !vþ„þ!Ýþçöì‹y›

(D) œy£zöì¢yöì‹y›
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7. Which of the following insulin is secreted from ?

(A) Adrenal gland

(B) Thymus

(C) Pituitary

(D) Pancreas

7Ð £z̃ ¢%!œ˜ Çþ!îû“þ £ëû ˜#öì‰þîû ö„þy˜!Ýþ öíöì„þ Ú

(A) xÄyöìvÈþ˜yœ

(B) íy£z›y¢

(C) !þ™Ý%þ£zÝþy!îû

(D) x@ÀÄyŸëû

8. Crossing over starts at

(A) Zygotene

(B) Pachytene

(C) Diplotene

(D) Diakinesis

8Ð ö„þy˜ ”Ÿyëû e«!¢‚ç¦þyîû Öîû& £ëû Ú

(A) ‹y£zöì†y!Ýþ˜

(B) þ™Äy„þy£z!Ýþ˜

(C) !vþöì²Õy!Ýþ˜

(D) vþyëûy„þy£zöì˜!¢¢

9. In which organelle peptide synthesis takes place ?

(A) Chloroplast

(B) Mitochondria

(C) Lysosome

(D) Ribosome
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9Ð öþ™þ™Ýþy£zvþ ¢‚öìÙÕ¡ì’ ö„þy˜ xDy’%öì“þ £ëû Ú

(A) ö„Ïþyöìîûy²ÕyÞÝþ

(B) ›y£zöìÝþy„þ!uÈþëûy

(C) œy£zöì¢yöì‹y›

(D) îûy£zöìîyöì‹y›

10. Which of the following is an endocrine gland ?

(A) Liver

(B) Ovary

(C) Salivary gland

(D) Spleen

10Ð ˜#öì‰þîû ö„þy˜!Ýþ xhsþƒÇþîûy @ùÌ!sþi Ú

(A) ë„,þê

(B) !vþÁºyŸëû

(C) œyœy@ùÌ!sþi

(D) ²Õ#£y

—————
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P - II (1+1+1) G / 20 (N) SUP

2020

ZOOLOGY (General)
Paper Code : IV-B

[New Syllabus]
(Supplementary)

Full Marks : 40 Time : One Hour Thirty Minutes

The figures in the margin indicate full marks.

Write your answer within one page for the questions carrying 4 marks each
and within three pages for the questions carrying 12 marks each.

Unit - 1

(Histology, Cell Biology and Genetics)

1. Answer any two questions. 4×2=8

(a) Describe the transverse section of Ovary with proper figure.

(b) Write down the structure and function of mitochondria.

(c) What is test cross ? Explain with example. 1+3

(d) What is the role of Y chromosome in sex determination in Drosophila sp.
and human ?

2. Answer any one question : 12×1=12

(a) What do you mean by Fixative ? Write the importance of fixation. Briefly
describe the process of fixation. 2+3+7

(b) Discuss the structural chromosomal mutations briefly. 12

(c) Describe briefly the stages of meiosis cell division with figures. 12
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Unit - 2

(Developmental Biology and Endocrinology)

3. Answer any two questions : 4×2=8

(a) Describe briefly the process of Spermiogenesis.

(b) Write the laws of Cleavage.

(c) Write the functions of Chorion and allantois.

(d) What are functions of Testosteron ?

4. Answer any one question : 12×1=12

(a) Classify hormones on the basis of their chemical nature with examples of each
class. 12

(b) What is fertilization ? Describe the fertilization process in Sea-urchin. 2+10

(c) Define placenta. Describe briefly the classification of placenta with proper
example. 2+10

îDy %̃îy”

£zvþz!˜Ýþ éôé 1

1Ð öë ö„þyöì̃ y ”%!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

S„þV vþzþ™ë%_« !‰þe¢£ !vþÁºyŸöìëûîû ²ÌßþiöìFŠéöì”îû !îîîû’ ”yçÐ

S…éV ›y£zöìÝþy„þ˜!vÈþëûyîû †àþ˜ ç „þy‹ öœ…Ð

S†V öÝþÞÝþe«¢ „þ# Ú vþz”y£îû’¢£ î%!Gþöìëû ”yçÐ 1+3

S‡V šþœ›y!Šé ~î‚ ›y %̃öì¡ìîû !œD!˜•Åyîûöì’ Y öe«yöì›yöì‹yöì›îû ¦)þ!›„þy „þ# Ú
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2Ð öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 12×1=12

S„þV !šþöì:!Ýþ¦þ îœöì“þ „þ# öîyGþ Ú !šþöì:Ÿöì̃ îû =îû&c öœ…Ð ¢‚öìÇþöìþ™ !šþöì:Ÿöì̃ îû þ™kþ!“þ î’Å̃ y
„þöìîûyÐ 2+3+7

S…éV ¢‚öìÇþöìþ™ †àþ˜†“þ öe«yöì›yöì‹y›#ëû !›vþzöìÝþŸ˜ î’Å̃ y „þöìîûyÐ 12

S†V !‰þe¢£ !›ç!¢¢ ö„þy¡ì!î¦þy‹öì̃ îû ”Ÿy=!œ î’Å̃ y „þöìîûyÐ 12

£zvþz!˜Ýþ éôé 2

3Ð öë ö„þyöì̃ y ”%!Ýþþ ²ÌöìÙÀîû vþz_îû ”yç ­ 4×2=8

S„þV ¢‚öìÇþöìþ™ ßþ™y!›Åçöì‹öì̃ !¢¢ þ™kþ!“þ!Ýþ î’Å̃ y „þöìîûyÐ

S…éV !„Ïþöì¦þöì‹îû ¢)e=!œ öœ…Ð

S†V ö„þy!îûç˜ ~î‚ xÄyœyrÝþöìëûöì¢îû „þy‹ öœ…Ð

S‡V öÝþöìÞÝþyöìÞÝþîûöì̃ îû „þy‹=!œ „þ# „þ# Ú

4Ð öë ö„þyöì̃ y ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ­ 12×1=12

S„þV ²Ì!“þ!Ýþ ö×!’îû vþz”y£îû’¢£ îûy¢yëû!˜„þ ²Ì„,þ!“þîû vþzþ™îû !¦þ!_ „þöìîû £îûöì›yöì̃ îû ö×!’!î˜Äy¢
„þîûÐ

S…éV !˜öì¡ì„þ „þ# Ú ¢›%oéôé¢‹yîû&îû !˜öì¡ì„þ þ™kþ!“þ ¢‚öìÇþöìþ™ î’Å̃ y „þöìîûyÐ 2+10

S†V x›îûyîû ¢‚Kþy ”yçÐ vþzþ™ë%_« vþz”y£îû’¢£ ¢‚öìÇþöìþ™ x›îûyîû ö×!’!î˜Äy¢ „þîûÐ 2+10

–––––––––––


